Unit 1: Relationship Between Quantities
DA recTangIe has an area of 90 cm2and a width of 6 cm. Find ‘rhe length of the rectangle.

A. 540 cm R - A AL
#B. 15cm (39 :'_ ;@}_'_“L. L =15 cn~
C. 150 cm A0 g .
D. 6cm . :
2) A rectangle has a length of 12 mand a  width of 400 cm. What is the perimeter of the
rectangle? . |2 = | 200 £
A. 824 cm 1200
B.. 1600 cm é«%ﬁfxr E{ Yoo o= @[”\g‘i\ o\l Sialee
C. 2000 cm e = .
# D. 3200 cm 2y o
3) What is the area of a circle with a circumference of 43.98226 inches? Use 3.14159 for .
A 16344029 2 D 4 C= AT . @ FD Avco
A B. 15393791 in? (( 43.98326 = &(3. 14159) A= T2 |
C. 153.9325 in? 13 4833 = . %318 = 3. 59 (1)>
D. 153.9394 in? b BEIIR. . (RGBS = 53,9279
M=y B '
4) The tension caused by a wave moving along a string is found using the formula 7 = ~LEm

is the mass of the string in grams, L is the length of the string in centimeters, and v is the
velocity of the wave in centimeters per second, what is the unit of the tension of the s‘rr'mg T2

4 A. Gram-centimeters per second squared T = Q’ ams (L0
B. Centimeters per second squared : e s
C. Grams per centimeter-second squared
D. Centimeters squared per second

5) The distance a car travels can be found using the formula d = rt, where d is The dls‘rance ris
the rate of speed, and t is time. How many miles does the car travel, if it drives at a speed of
- 70 miles per hour for 3 hour?

3 A. 35 miles - gde=rt
B. 70 miles =70 %#M
C. 105 miles e 85 Saad x
5 = 95 Mmilre
D. 140 miles e

6) A certain population of bacteria has an average growth rate of 0.02 bacteria per hour. The
formula for the growth of the bacteria’s population is 4 = P,(2.71828)%0%

A7 | If you begin with 200 bacteria, about how many bacTer'la

B 277 | will there be after 100 hours?
Jc. 1478 e R B
D. 20000 A=200(a.7122%) i

ot g



The sum of the angle measures in a triangle is 180°. Two cmgles of a ‘rrlangle measure 20° and
50°. What is the measure of the third angle'>

A. 30° 20+ 50+ x=\80
“B, 708 A° =
: o R 0+ x =\g0 -
¥ C. 110° b2 -0 i
D. 160° _ : : .
X= 06
8) Which equation shows P = 2l + 2w when solved for w? ' -
A w=2 et o P AW
. oD AL L
B. w= e s K
Tp P-aL= 2 W)
% D. WZP_zl ' Iy = P-2L
2 7_“ ;
9) Bruce owns a business that produces widgets. He must bring in more in revenue than he pays
out in costs in order to turn a profit. revenue 7 Cosy

e It costs $10 in labor and materials to make each of his widgets Co<t’
e His rent each month for his factory is $4000 ¢ o<+
e He sells each widget for $25  yv2u 2o

How many widgets does Bruce need to sell each month to make a profit?

A asx > 16X ++600
B. 260 e e |

*C. 267 Y B G <
B 900 | S %< > Hdooco X > 2l b

10) Convert 5 miles to feet ye \ & :

e Eoued 528 _ qwdee £+

= B. 26400 ft \ To — j
C. 25000 ft
D. 60 ft

11) An amount of $1® is deposited into a bank account that pays@annual interest. If there
are no other withdrawals or deposits, what will be The balance of the account after(3 jyears?

A. $1000 Y=o C1+r =
B. $2744 = an} ( Mw w«if
C. $884.75 £ ingg 1
4 D. $1124.86 hWagq. ge 4y
'12) The angles of a cer‘ram triangle measure x°, 2x°, and 6x°. Solve for x.
kA 20 cH X4 2AX+ X ﬁ?f‘}

B. 10 D. 15 ek iif%f{;:?

X= 2




Unit 2: Reasoninq with EquaTio'ns and Inequali‘r_ies

13) Which equation shows ax - w = 3 solved for w?

X A w=ax-3 oxX-Ww =3
B. w=ax+3 =k *z:?U(

Shih e - W = —a gs:f ) w= ax-3

D. w=3+ax e i'" o e s
14) Which equation is equwalen‘r to %—% =17 -
A. 17x = 88 e e X -3 x =8¢
% B. 11x = 88 X =
C. 4x=44
D. 2x = 44

15) Which equation shows 4n = 2(1 3) solved for t?
r
R R WYy — "l
A t= n3 vi/éq%q ﬁ%{t 3\) Mﬁm'iévEﬂ ngig“%f :

" = - g -
4n+6 _ - 2Nn=—1t-3

D. f=dn-3 FET ‘_{ s L
16) Which equation shows 6(x + 4) = 2(y + 5) solved for y? , *%Wmf;f =3

A v=ien (DX"*LL?ZG«;{ %o
—— 3/‘\ o

B. y=x+b5 -
ng C. y =3x+7 : tl}& H =2 z" f:x}"}{ + W; - t?

(4,

-y

B su=Oxaly 2 2
~17) This equation can be used to find h, the number of hours it takes Flo and Bryan to mow their

lawn: (h,‘_mw'}
hh
—+—=1
3 6

-

-

Lnth =L

\%h = (‘ﬁ
b=

How many hours will it take them to mow their lawn? Find 1

A. 6 %kC.2
B3 'p'

18) For what values of x is the inequality %+§ >1 true?

,A'X<1 ' %v} X0
‘*‘ B. X >1 ::g E:S 2%
& 9% <2
S | 3 = X >\
S Y ‘% :



) A ferry boat carries passengers back and forth between ‘rwo communmes on the Peachville
River.

- o Tt takes 30 minutes longer for the ferry to make the trip upstream than downstream.
e The ferry's average speed in still water is 15 mph :
e The river's current is usually 5 mph

This equation can be used to determine how many miles apar'f the two communities are:
i"v ] g‘“» )

m = m 0.5 5 @\ = g — =0, 8‘,
i5-5 185 1o 20
Wha‘r ls ','[1, 'the distance between the two communities? e e b )0
A. 0.5 miles s s e R
B. 5 miles ; o = O
¥ €. 10 miles
D. 15 miles ‘
20) A manager is comparing the cost of buying ball caps with the company emblem from two
different companies. : Cost X = co=tY

e Company X charges a $50 fee plus $7 per cap
e Company Y charges a $30 fee plus $9 per cap

For what number of ball caps will the manager's cost be the same for both companies?

HA. 10 caps 50 +7)< =30+A4x
B. 20 caps [
C. 40 caps
D. 100 caps

21) A shop sells one- pound bags of peanuts for $2 and three-pound bags of peanuts for $5. If 9
bags are purchased for a ToTaI cost of $36, how many three-pound bags were purchased?

A 3 >< \b($2) ﬁ_f\)i«v* Cq\) “2}9*-*/&/’ Mlg
&%B'é VZJ“O (25) 2%+ 5 \w?[p ;lx-{f)\, =3
il 3y=18 Y=t
D. 18
22) Which graph represents the solution to x > 3?
PR 4 ;D & ) . i § 2 4 » K é?&é#"*\
2 =181 2 3 45 679
B | A e e S
B e e DR B |
S S e ® i
N 101234567
‘a : i ) :} T & ; ; 0
WL o EEG s



) Which graph represents a system of linear equations that has muh“iple common coordinate
grapn rep Y q mulr L il
pairs? - '

‘Meang the.
S armes Solutipns
~ Of 00 Spluchonse

4i.0 ! o

5 e /i

%A. y>-x+1and y>x-5 ¥/

B. y>x+T and y>x-5

€ y>—x+1_and/y/>7ﬂ(—’§

D. y>*<+T and Wﬂfgm

X =5
AT
N o

Yz

s -? Le O ”% wWweetion 5«\%

\ne-hualety AHF™
L/ : - (J

7(»A.xSl

=
i
o
v
~W

B =1 =4 S b : g
€ x=—1 —Yyx = -l e o V€ ctirece, O‘f” A Al ;«’5

B | = e | {m‘ -

A. (-4,<7) . = Aie 2
By = gl

¥ D. (4,7)




Unit 3: Linear and Exponential Functions

27) Which equation corresponds to the graph below?

. : . %Cy s %_,W\ﬁ,u& ("!.M:;a

28) Two lines are graphed on this coordinate plane. Which poi

both lines?

29) Which equation corresponds to the poin

hy:x+1

B.y=2x+1
VC VL)!T",\

2

/
e

\i* ‘E{' e

D.y=3x-1

int appears to be a solution.of

ints in the coordinate plane?




J/ ‘

sed on the tables, at what point do the linesy = -x + 5 and'y = 2x - 1 intersect?

y=-x+5 ¥ ““—“'2;1: -1
% . . 3 A (1,1)
- /ﬁ// w} : :;3//‘}' B. (3, 5)
0 % g | ar J'c (2, 3)
1 A . 1 D.(3,2) 2
it et f il ‘
{\.._..»3?54 /} ‘ 4 J,j} {:«.ﬁ y/y | ‘\ -“"“}
» > A~ k! o
31) The first term in this sequence is -1.
i 2 3 4 3
a | -1] 1 o f* ‘f‘% ?
o i 5 =
Whlch function represents the sequence?
A' a, = a, +} {"'\
% B.a =4, ,+2 4— V€ Cursye sa‘ of sl as 0(; 2l
Ca = 4.1
oo a0
32) Which function is modeled in this table? i !
. St vy e |
; - = — M= 7t 9
x | A9 A f(x)=x+7 5 Jé / -
2 g N VN \/ <. ;:m f ‘, _‘E[E
i( 142 | B ()= x+9 - = 2Lie
o I 4 = 2% 45 o b
y{ o ‘3%3 C.f(x)=2x+5 3 OX 15 gi w‘g
)42 ¥D.f(x)=3x+5 e
1l 4 17 ) 5{: i
33) Which explicit formula describes the pattern in this table?
d #
2 628
3 942
# 150
10 | 3140

A.d=314+C Nope 2# 2.14+¢.29

B. 3.14xC=d Nope .14 X 2872

C-3l4x10=¢ NO@M 3,4 Xl Z6- 2%
FOCENARE e L L9R =3 X2



) If £(12) = 4(12) - 20, which function gives £(x)?
A f(x)=4 : Lbegadinad nelis. TG : ;

B. f(x) = 12 rext § |

it

D. f(x) = 12x~- 20 - Fi- T ey

35) A farmer owns a horse that can continuously run an average of 8 miles an hour for up.to 6

hours. Let y be the distance the horse can travel for a giveri x amount of time in hours. The
horse's progress can be modeled by a function. . ’

% A 0<x<6 X Valkree o
B.0O<y<6 '
C.0=x=148
D. 0<y<48

36) A population of Squir‘r‘els doubles every year. Initially there were 5 squirrels. A biologist
studying the squirrels created a function to model their population growth. P(r) =5(2")where tis

. . . . . ‘2ol O Y «nf» A =
time. The graph of the function is shown. What is the range of the function? 2 e e
: {ree W I TR e ]
e We Gue T (g aouk LV AT st

+ we Desrtite

_A. any real number cart e 70,5 ‘:—;%Lurml Q
Al ~B-any whole number greater than 0 Cznt b::’f ea.
A =0 _C-any whole number greater than 5 f%‘““rﬁf
>5 cConr be=~1c%
Y_..__ D. any whole number greater than or equal
to 5
75 16 ]

37) The function graphed on this coordinate grid shows f(x), the height of a dropped ball in
feet after its xth bounce. ;

ﬁffé 2 On which bounce was the height of the ball 10 ft?
2\ ‘ : ¥ A.bounce 1 %Qé\&«:’v ={D
é s \ o B. bounce 2 %fﬁ%“" P s
g " ; —~l.o i boonees - lng {q; e 9
§ - e D.bounce 4 |z qiq Y
F o5 -
5 \%
GiL 3 s
=8 ;

MNumber of Bognges



) Juan and Patti decided to see who could read the most books in a month. They began to
keep track after Patti had already read 5 books that month. This graph shows the number of
books Patti read for the next 10 days.

Number of Books Read If Juan has read no books before the '
X fourth day of the month and he reads’
‘ at the same rate as Patti, how many
1 . . .| books will he have read by day 12?

2P g 10 oh e lign. ki
7 ; (e OF g,{«p 1 LAV

Boaks
2
@3"

: i e A : : { L = } s
AT C.15 2 Wncte, I you apply

- ; L4 : “ . D. 20 s ((x““‘(‘(f" “tZ'* mgl«(ﬂ v
12395678981 ° Who Stads E*’*‘&*%g T @0

] (W | 5
Day t1n o S 2
S Wen ing woud e ted

39) To rent a canoe, the cost is $3 for the oars and life preserver, plus $5 an hour for the |0 Lz
canoe. Which graph models the cost of renting a canoe? b 94

D@ew‘ \ 2

2

is

10 Y = bBbX +3
f; ﬁ

F* ¢ i 4.8 TTaG e B B e

40) Which function represents this sequence?

" i 2 3 4 3 Exponent~al. uUu=a af X
a, | 6 | 18 | 54 | 162 | 486 % e X
g —3 —3 —%5 =l o)

A. f(n)=3""
B 6"
C. f(n)=3(6""
- JD. f(n')=6(3"‘1)



The first term of the sequence is 3. Which function represents the sequénce?

w | 1] 2] 3] 4 BN Unear U% = 1x+B
e b ietb 2| 2 0P : = _
Yo o g : 2=T70()+b
A fn)=n+3 . : A= "T4+YH
kB f(m)="n—4 = E i
C. fm)=3n+7 : “L‘EW\O =
D.9fn) =n+7 ; : :

42) The pom'rs (0. 1).(1.5), (2 25), (3, 125) are on the graph of a function. Which equation
represents that function?

Ao & L1 12 L3 exponarital)
B. f(x)y=3" e 125 | e -2 u=ohX
C. fx)=4" : e \——/5 \/é = 5 X

X b w5 -5

43) A function gis an odd function. If 9( 3) = 4, which other point lies on ‘rhe gr'aph of g’

H A (3,-4)
B. (-3,-4)
c 4 -3
B (4.5

44) Which statement is true about the function f(x) = 7?

_A_ The function is odd because -f(x) = f(-x)
B. The function is even because -f(x) = f(-x)
_€. The function is odd because f(x) = f(-x)

% D. The function is even because f(x) = f(-x) 4— Defin oh o ot ‘éi"\iﬁf‘m ﬂh{ e s

45) Which scatter plot BEST represents a model of linear growth?
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) Which scatter plot BEST represents a model of exponential growth?
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47) Which table represents an exponential function? :
Ko moout §1‘é tu“gwwx %@f,% Sanme.tVun =

A € ot ve =

X g i P 3 4
¥ 5 7 8 g

i,:}i,.,; ‘%v Z(F Y&/
. s
X i i e 3 4
3 5 13 21 2% 37

A

ot
o
S
|
Lk
s,

$1 . 3 |9 2|8

o R,
X3 X5 X

48) If the parent function is f(x) = mx + b, what is the value of the parameter m for the line

ssing through the points (-2, 7) and (4, 3)? A o (

passing 9 P ( e \)l (Xz.\.’i FHnd >=Lu}::3,.»2, !
A 9 =

B. —= ] r\ﬂ = i{z ’zg ¢ 5’3 -v-wf S LM\ -

i f

(W S, S —_— i

¥ —

C. -2 ' o U = (v = "
: Jj/l / { : . ]

£
¥D. -3



